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Sivasagar was formerly known as -

(@  Charaideo (b)  Gauripur

(¢)  Rangpur (d)  Tezpur
Match list T with list Il 'and select the correct match from
the codes given below :

"G 1950 © = w.  Kazirangadeclared as World

- Heritage site by UNESCO.

: (ii) '*1'916 - - x.  Kariranga declared as
SEe = T e National Park.
’(111 1974  y.  Kaziranga named as
' Kaziranga Game Sanctuary.
GwEoRsE = - 7.~ Kaziranga renamed as
R FH Kazmangawahfe Sanctuary

(a-) 4 XAl - y{, Hi-w IV"‘:':_Z = BT

by Tz ey i AWIRR T

Charaldeo is farnous for -

(a) = Maidams (b)  Stone bridge

(¢)  Tank (d) = Temples

4.+ Consider the following sentences as true or false and select
’“ﬂ!e ‘appropriate answer. | g £
i, Pramatta Singha built Talatal Ghar.

ii.  SivaDol, Bishnu Dol and Devi Dol were built by
queen Ambika. ————



11l Joysagar Tank is also known as ‘Borpukhuri’.
iv. The present Gargaon Palace (Kareng Ghar) was
built by King Rajeswar Singha.
() i. False 1. True iii. True iv. False
(b) 1. True ii False iii.True iv. False
(¢) i False iiTrue iii False iv. True
(d) i False ii False iii.True iv. False
..... they have eyes like ours that wake or sleep ...."
— “They’ here refersto-  (Hint. - No Men Are Foreign)
(a)  All the people of the world.
(b)  The people of our country.
(©) The people of other countries.
(d) Our relatives and friends.
T]le poet of the poem “No Men Are Foreign™ wants to
convey the message that
(@  We all are human but we are nhot same.
| (b)  We all are human and we are same.
~(©) Weallare human and we should fight against each

e o other.
(d)  We all are human but we are not equal.
The poet compared “wars’ with -

(Hint. - No Men Are Foreign)
(a)  Peaceful harvest
(b)  Peaceful mind of the people
(c)  Spring season
(d)  Winter season
Who is the protaganist of ‘The Happy Prince’?
(@)  The Happy Prince  (b)  The Mayor
(¢)  The town councillor (d)  The Town Clerk
A woman who makes a living by sewing is called -
(a) Matchgirl (b)  Messenger
(c) Playwright  (d) Seamstress



10.

“I am waited for in Egypt™ Said the swallow. Who were
waiting for the little swallow?

(@) The Happy Prince

(b)  The Crocodiles of the Egypt.

(©) The little swallow’s friends.

(d)  The Queens

From Question No. 11 to 14 - Change the voice.

115
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13.

14.

He ate a biscuit.

(@) A biscuit is eaten by him.
(b) A biscuit was eat by him.
©) A biscuit was eaten by him.
(d) A biscuit is eat by him.
The sum is being done by him.

(a)  He is doing the sum.

(b)  Heis done the sum.

= () He was doing the sum.

(d)  He was done the sum.

" Has it not been done by him? =~

(a) Have he not done it?

(b)  Hashenotdoneit? -
(c) Has he not do it? '
(d) Have he not do it?

She may insult you.

(a) You may be insulted by her.
(b)  You may insulted by her.
(c) You may be insult by her.
(d)  You may insult by her.

From Question No. 15 1018 - Change the narration.

153

The teacher said, “The sun gives us light.”
(a) ~ The teacher said the sun gives us light.

<aiifhy) The teacher said that the sun gives us light.

(c) The teacher said the sun gives us light.
(d) The teacher said that the sun give us light.
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Mina said to Gita, “Did you do this?”

(a) Mina said to Gita did she had done that.

(b)  Mina asked Gita if she had do that.

(c) Mina asked ‘Gita did she had do that.

(d) Mina asked Gita if she had done that.

He said, “Hurrah! I got the first position.”

(a) He said that he got the first positin.

(b) He exclaimed with joy that he had got the first
position.

(©) He exclaimed with fear that he had got the first
position.

(d)  He exclaimed with joy that he got the first position.

The Officer said to the clerk, “Do it fast.”

(a) The Officer ordered the clerk to do it fast.

(b) The Officer requested the clerk to do it fast.

(c) The Officer ordered the clerk to done it fast.

(d) The officer requsted the clerk to done it fast.

Question No. 19to 22 - correct the verb given in the bracket.

19

20.

31

He (knock) at the door now. :

(a) He was knocking at the door NOW.

(b)  He has knocking at the door now.

(c)  He is knocking at the door now. =~

(d)  Heis knock at the door now.

Have you (work) here for ten years?

(a)  Have you working here for ten years?

(b)  Have been you working here for ten years?
(c)  Have you been working here for ten years?
(d)  Have you been work here for ten years?

I (write) theletter before you came home.

(a) 1 have written the letter before you came home.
(b) I had written the letter before you came home.
(¢)  I'had write the letter before you came home.
(d) | have write the letter before you came home.



22.

23.

24.

25.

1_.1' you (neglect) your studies. you will fail.

(a) If you neglecting your studies, you will fail.

(_b) If you neglected your studies, you will fail,

(c) If you neglect your studies, you will fail.

(d) It you have neglect your studies, you will fail.

Write down the historical importance of Charaideo. 2

(Hint. - A Visit to Kaziranga and Sivasagar)

Give a pen picture of Kaziranga National Park as you find

in “A Visit to Kaziranga and Sivasagar.” 3

How did the poet establish - “.... no men are strange, no

countries foreign ....” in the poem “No Men Are Foreign™?
| 2

What messages did the poet want to covney through

‘peaceful harvests’ and “war’s long winter starv’d’?

(Hint. - No Men Are Foreign) 2
What precious metal and gems were found in the statue of
the Happy Prince? 2

How did Happy Prince prove hn'nself as a well-wisher of

. the society. Give examples from the short story “The Happy
~ Prinee” to support your answer. -4
" As the literary secretary of the students umon of your school

write a notice for the school notice boqrc__i inviting writings
for school wall magazine to be published on the occasion

of ‘Annual School Week’. 3
Write an art:tcle in about 100 150 words. (Any one of the

followmg) e e g _,,5
(a) Pollution '

(b)  Social Media

(c) Unemployment.
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2nd Unit Test - 2024
Sub : General Science

Class : IX
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Section - A
(From Q. No. 1 to Q.No. 22 each question carry 1 mark)
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2™ Unit Test 2024

Sub-Computer Science
Class-IX
Full Marks-50 ‘ Time- 2 L
1. 1)DBMSisa - s Ky mD
(a) Type of database (b) Set of Computer programs
(c) Key (d) Field.

(il)  Which key defines a relationship between two tables?
~(a) Primary key (b) Candidate key
(c) Secondary key  (d) None of these.
(iii)  Which icon indicates the edit mode in Access? .
(a) Clip (b) Pen (c) Pencil (d) None of these.

(iv)  Total types of programming languages are
(a) 4 (b)3 ©)2 . o i(@s

(v)  The graphical representation of algorithmis =
(a) Syntex  (b) Flow Chart (c) Programme (d) CPU.

2. Fill in the blanks. = : 1x5=5

(a) A candidate key is called key, if it is not des:lguated as

primary key. : A

(b) View displays the table as gnd

(c) ISA stands for __ o

(d) Programmmg is also known as _

(¢) In drawing flowchart, - is used for input/output operation.
3. Give short answer. 1x15=15
~ (a) What is database? |

(b) What is primary key?

(c) What are data types?

(d) What is a query?

(e) Define foreign key:.

(f) What is flat file data base?



(g) V’hat is MS Acc 3ss?

(h) V’hat is coding?

(1) V'hat is syntax?

() V'hat is assembl + language?

(k) L efine Pseudo ¢ )de?

(1) V'hat is compile ?

(m)V’hat does HLL stands for?

(n) V’ho is an user i 1 computer pro;iramme?

(0) V'hat are the dif erent views in DBMS table?

. Wrnti: Answers of th: following. .3%X5=5
(1) Differentiate between flat fi & and relationa” data base.

(1)  What is repc :t and what are the different ty pes of report v ew,

explain shori / |
(1)  What are the major compor.gnts of MS-Ac sess? Explain «hort
one by one. '

(iv)  Define the term program ning. Write ‘he importance of
Computer pr )gramming. iy

(v)  Draw a flovs chart to fing larger numbir from two g ven
number. : ' :

. Diffe rentiate betwetn algorithm, fow chart and aseudo code. I raw

the t: ble to find larg :r number from N numbers. 3+2=5

. How to add a blank page in data b: se? Explain th : procedure to -srint

arepxt. | i 1+4 =5

hhhhhidd
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